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p = 7,850 kg/m®
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m; = (7,850 kg/m*) [(0.24 m)(0.14 m)(0.04 m)]
(7.85%10° kg/m?) (1.344>x107% m?)

Y

of,

= 10.550 kg
m, = my = (7,850 kg/m") [ (0.07 m)* (0.04 m)] )
= (7.85%10° kg/m®) (0.3079%107 m®) o 0%
_ 2417 kg 1mensions im mim
my = my = (7,850 kg/m?) [z (0.044 m)* (0.04 m)]
= (7.85%10° kg/m®) (0.2433x107% m®) = 1.9098 kg
L, = €L m (b2 + 02)
xl 12 1
= 11—2(10.550 kg)[(0.14 m)? + (0.04 m)?] = 18.638x107° kgm®
1
Ly = I3 = 1o M2 (3T22+Lzz)
= 11—2(2.417 kg)[3 (0.07 m)? + (0.04 m)?] = 3.283x107° kgm®
I, = 11_2 my Bri + L2 + mydf

- (1.9098 ke) {%[3 (0.044 m)? + (0.04 m)?] + (0.04)%} = 4.234x10 kgm®
.= L (3r2+ L2
5 19 M5 975 5

= 11_2(1-9098 kg)[3 (0.044 m)? + (0.04 m)?] = 1.179x107° kgm?

I, = [:r,l + [:1:2 + [;L‘3 + [1:4 - 1115

= [(18.638) + 2 (3.283) + (4.234) - (1.179)]1x107* kgm?
= 28.259%107° kgm* = I, = 28.3x107% kgm?

1
[yl = ﬁml (a2+b2)

= 11—2(10.550 kg)[(0.24 m)* + (0.14 m)*] = 67.87<107° kgm*

1 2 2 2
Ly = Iy = 5 MaTy = my dy, + My dy,

= (2417 kg) {20007 m)? - [=2(0.07 m1? + [(0.12 m) + ——(0.07 m)]%}
2 37 37
— 57.96x10° kem@?
1

_ _ 2 2
Iy = s = 5 myrg tomydy

= (1.9098 kg) [%(0.044 m)? + (0.12 m)?] = 29.34x1077 kgm*



Ly =1, * Ly + Ly + L, — Iy

= [(67.87) + 2 (57.96) + 0]x107° kgm?®
= 183.79x107° kgm? = I = 183.8%X107° kgm?

) m=my + my + mg + my - ms
= (10.550 kg) + 2 (2.417 kg) + 0 = 15.384 kg

I, 28.259 <10 * kg - m* )
2 = - = g m = X 3 2
k -~ 15381 ke 1.8369%x107° m

= k, = 0.0429 m = 42.9 mm

I 3.2 ‘
R= L= SBTXIKEIM ) 947x10 m?

y - 15.384 kg
= k, = 0.1093 m = 109.3 mm



